Subtracting up to 100 #6

21) 97 — 62

73— 10

22) 18 —0

A

()

24) 98 — 40 =

<t

25) 62 — 25

1O

26) 69 — 63

93 — 52
87 —12

27) 72— 24

28) 93 — 33

89 — 70

20) 87— 11

30) 46 — 11

31) 89— 56

52 — 32
96 — 12

89 — 25

81 — 37

75— 25

34) 83— 46

62 — 24

89 — 82
81 — 46

55 — 3%
15— 11
20) 67 — 25

30) 86 — 64

40) 77— 14



Subtracting up to 100 #6 (Solutions)

21) 97— 62 =35

23) 97 — 60 = 37

24) 98 — 40 = 58

25) 62 — 25 = 37

27) 72 — 24 = 48

28) 93 — 33 = 60

29) 87— 11 =176

30) 46 — 11 =35

31) 89 — 56 = 33

32) 89 — 25 = 64

34) 83— 46 = 37
35) 73— 65

=8

37) 77— 31 = 46

30) 86 — 64 = 22



